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Solving Equations using Graphs
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Answer1

(b) On the grid, draw the graph of y = x?— 3x + 2 for values of x from —1 to 5
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Answer 2

The diagram shows the graph of y = x> — 4x — 2
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(a) Use the graph to find estimates for the solutions of

(i) ¥~ 4x—-2=0 X ==0-4¢ (o GG
(ii) ¥~ 4x—6=0
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Answer 3

(a) Complete the table of values for y = x*

—3x+1
x | =2 | a1 | o | 1 2 3 4
y 11 s | 1 24 =4 1 S
USRI C,r)l,'gk(r()%f = | £°¢ €| 2 5
=l s G5 Freer =(6-1T <t = §
Answer 4

(c) By drawing a suitable straight line on the grid, find estimates for the solutions of

¥ =-3x+1=3  —p DQ/’\‘VJ ‘6:3

Answer 5

P is the point on the graph of y =x*—-2x+3 where x =2
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Answer 6

EQuATION OP%J
SteacnTlns

(b) Hence find estimates for the solutions of the simultaneous equations

X2+ y?=1225
Drisav Tites 2 2x+y=1
- U ""\@/
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Answer 7
(a) Complete the table of values for y=x>—-3x+2
x:t:321’3+1 x | -1 ] 0 1 2 3 | 4| 5
= O
y |6 | 2|00 |2 |€ |12

=7 o ol el
M=l (3:4-66*‘

oy :_wé,f 12 +2

Answer 8
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(c) Find estimates for the solutions of the equation x*-3x+2=4

teom Geavon: x= -0-$ o Xx=25
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Answer 9

(b) Use the graph to find estimates for the values of x that satisfy the simultaneous
equations

y=x—4x -2
FHy=6 )(/:-fl'? o G F

%:6 ________________________________________________________________________
%:On X =6

Answer 10

(b) On the grid, draw the graph of y = x* — 3x + 1 for values of x from -2 to 4
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Answer 1

The diagram shows part of the graph of y=x?-2x+3
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(a) By drawing a suitable straight line, use your graph to find estimates for the solutions

of x2=3x—-1=0

2 =%~ =0 D 4 =Xt
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Answer 12

i
(a) On the grid, draw the graph of x> +y?=12.25 —D (= |72S —~»( = .l 225
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